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1101[XK1E EE 106 1060 0 1060 10 0 0 0 1512 0 756
EE 20 300 0 300 15 0 0 0 1188 0 756
GhH 126 1360 0 1360
1103 A 3D mE 17 170 0 170 10 0 0 0 3024 0 1944
(&) 17 170 0 170
[EE= Y EI 8 80 0 80 10 0 0 0 5400 0 3240
GhH 8 80 0 80
1113|FEAS (&D) 225 2250 0 2250
12145 GH 4 40 0 40
1141|5848 mE 6 30 0 30 5 0 0 0 3672 0 2592
=) 4 40 0 40 10 0 0 0 1944 0 1728
& 10 70 0 70
1201 B3 T 100 1500 0 1500 15 0 0 0 0 1836 0
& 100 1500 0 1500
1203 | F vy BH 958 9580 0 9580 10 0 0 0 2592 0 1728
EE 135 1350 0 1350 10 0 0 0 2268 0 810
(&) 1179 11790 0 11790
1205|F5nAE [EE 688 275 275 0 0.4 162 0 113 0 0 0
#mE 25 100 0 100 4 0 0 0 0 2700 0
12 hel 300 60 0 60 0.2 0 0 0 0 140 0
(&) 1013 435 275 160
1207| B & (D) 720 72 72 0
1209| B & B 10 30 0 30 3 0 0 0 2052 0 1836
B 7 35 0 35 5 0 0 0 0 2268 0
(&) 17 65 0 65
1223| &% EE 545 164 164 0 0.3 119 0 97 0 0 0
(&) 595 174 164 10
1301[#aF S 8 16 0 16 2 0 0 0 1620 0 1512
= E 120 36 0 36 0.3 0 0 0 292 0 281
=H 225 113 0 113 05 0 0 0 346 0 324
=0 14 70 0 70 5 0 0 0 4320 0 3888
Eh 647 347 0 347
1321 [ S 55 275 0 275 5 0 0 0 2916 0 2700
ZiE 28 140 0 140 5 0 0 0 2592 0 2376
=0 80 400 0 400 5 0 0 0 3132 0 2808
=ik 30 150 0 150 5 0 0 0 0 2916 0
(&) 193 965 0 965
1351[E—<> |55 300 45 0 45 0.15 0 0 0 0 108 0
=i 120 16 0 16 0.13 0 0 0 0 103 0
Eh 420 61 0 61
1353[2 Tk =& 90 9 0 9 0.1 0 0 0 216 0 108
Eh 90 9 0 9
1401 |A Y = 5 10 0 10 2 0 0 0 0 3780 0
ERE 39 78 0 78 2 0 0 0 0 1998 0
(&) 44 88 0 88
1407 | EB T ERE 5 5 0 5 1 0 0 0 0 1728 0
(&) 5 5 0 5
1501 [HZ& e 181 905 0 905 5 0 0 0 2268 0 1188
(&) 181 905 0 905
1521[B % iz 5 50 0 50 10 0 0 0 4860 0 3240
(&) 5 50 0 50
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1541 [E& dbimE 30 300 0 300 10 0 0 0 2808 0 2700
& 30 300 0 300
1603[ L) —  [EE 6 60 0 60 10 0 0 0 5184 0 4320
& 6 60 0 60
1609(7Oval)  [@ES 5 30 0 30 6 0 0 0 0 3240 0
FI 34 204 0 204 6 0 0 0 3888 0 3240
[&D) 39 234 0 234
1611[LAR R 10 50 0 50 5 0 0 0 2160 0 1944
GhH 20 150 0 150
1612[H =L AR & 10 50 0 50
1627[3=k=k  [&EJI 330 66 0 66 0.2 0 0 0 205 0 200
& 330 66 0 66
1705| T A= =0 450 36 0 36 0.08 0 0 0 0 56 0
& 454 52 0 52
1803 | HEE EE 900 90 0 90 0.1 0 0 0 162 0 124
e 150 15 0 15 0.1 0 0 0 0 147 0
#mE 330 66 0 66 0.2 0 0 0 249 0 66
(&) 1380 171 0 171
1807 |#B f=554 250 25 0 25 0.1 0 0 0 0 62 0
EF 1200 240 0 240 0.2 0 0 0 0 119 0
(&) 1450 265 0 265
1809|L&HL R 500 50 0 50 0.1 0 0 0 0 83 0
=% 510 102 0 102 0.2 0 0 0 148 0 126
[E)) 1010 152 0 152
* S EEET * 19267 40360 949 39410
2103 | BEHMA [FNFRL 1 10 0 10 10 0 0 0 0 4860 0
GhH 1 10 0 10
2105| E@A M A | EIE 5 25 0 25 5 0 0 0 0 3024 0
(&) 5 25 0 25
2221|E & RS 5 50 0 50 10 0 0 0 0 5832 0
=% 16 160 0 160 10 0 0 0 6480 0 4968
Eh 21 210 0 210
2225| E#% 5 21 210 0 210 10 0 0 0 0 5184 0
Eh 21 210 0 210
2616|]SYAAL  |[E%H 5 25 0 25 5 0 0 0 0 13500 0
Eh 5 25 0 25
2811|& S 240 60 0 60 0.25 0 0 0 0 540 0
Eh 240 60 0 60
2823 % —« (&) 10 70 0 70
* S EEET * 596 1150 0 1150




